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Time : 3 Hours : Marks : 200
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One mark will be awarded for every correct zn5%e* There are no negative marks.
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or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,
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1.  Choose the sentence which is grammatically correct _
(1) Theeventbe telecasted next week.  (2) Theevent will be telecast next week.
(3) Theeventistelecasted nextweek. (%) The event will telecasts next week.
2.  Choose-the grammatically correct sentence.
(1) Of the two major political parties in Britain, the Conserv atives and Labour, the later
represents the interests of the working class.
(2) Of the two major political parties in Britain, the Conservatives and the Labour, the
latter represents the interests of the working class.
(3) Ofthe two major political parties in Britain, the Conservatives and Labour, the letter
represents the interests of the working class.
(4) Of the two major political parties in Britain the Conservatives and Labour, the latest
represents the interests of the working class.
3.  Choose the meaning of the underlined phrase/idiom.
He is a sensible person and knows how to button his lip.
(1) smack one’s lips (2) stylish in appearance
(3) press the lips to look smart (4) remain silent
4. Choose the meaning of the underlined phrase/idiom.
Envy is just like a Green-eyed monster which can destroy everything.
(1) Anger (2),~Hatred (3) Jealousy ~° (4) Flattery
5. Choose the option which can be substituted for the given words/sentence.
A tall strong masculine kind woman.
(1) amazon (2) - virago (3) circe (4) coquette
6. Choose the correct one word substitute.

The school or college in which one has been educated.
(1) Learner (2) Alumn (3) Almamater  (4) Graduate
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CIOWR e one Whiely bhost DAPIRACN I VT Nentonee i Passive Vbfee o the piven
WY

O shonled Roep one's protise.

LU 000 promise shonkd b kepthy i ) One's promixe ha to be kept

(O A promize shiould e kept, (1) A promize shonld be keeping,

Choose the vorroet Dasstve T for (e piven sentence.
NO R L me about the geetdent,

(O Twas ot old abont the aeetdent,

Y ot old abont the aeetdent,

GO Ehave not heen told abont the acetdent,

D Twan not elled abont the aeetdent,

Rearrange the given phrases into meaninp il sentence, ‘
Wacing ook e abie 7 butalso entarges the mind /7 because it not only inereases

() () ()
Knowledse 7 whieh st be eultivated by everybady

Bt

The coroet onder iy
L T R () L4 a2
(U T O TR T (C) I e T

Choose the correet onder of the fllowing jumbled sentence ftom the options,
CNprosses eommand /- an imperative sentence /& sontence that 7 ot an entreaty /

() () Q) Q)

s called

(3)
The correet onder i
(D IR N N R P () L4 S0
(D S 32004 G L1325
Choose the correet form of the ver fom the options and il in the blank.
Ifwe enough money, we could buy a villa ina posh locality,
(1) havebeen (M) has

(N had ¢ were
Choose the option with correet punctuation,

The squirrels nuts were hidden in several hollow trees thronghout the forest,

(1) The squirrels nuts were hidden in several hollow trees” throughout the forest,
(1) The squirrels muts were hidden in several hollow tree's throughout the forest,
(3} The squireels” nuts were hidden in several hollow trees throughout the fovest,
(D The squirrels mats were hidden in several hollow trees th\\m,nl\mu_lh«‘ l\t\\‘St\
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Identify the clause in the given scntence
The hand that rocks the cradle rules the v |

(1) Nounclause Wor]d.2 Adjective clause
(3) Prepositional clause E 4; Advcrbial clause

14.

(1) Aless (2) Little 3) A little

Fill in the blank with the appropriate option

learning is a dangerous thing,
(4) ThelLittle -

15.

Choose the correct form of Indirect Specch of the sentence.
He says, “I go to gym every moming.”

(1) He said that he goes to gym every morning.

(2) Hesays that he goes to gym every morning.

(3) He said that he used to go to gym every morming.
(4). He says that he went to gym every morning.

16.

Choose the correct form of Indirect Speech of the following sentence.

Rajesh said, “I bought a car yesterday.”

(1) Rajesh said that I have bought a car yesterday.

(2) Rajesh said that he did boughta car the previous day.
(3) Rajesh told that he had bought a car yesterday.

(4) Rajesh said that he had bought a car the previous day.

17.

Choose the appropriate phrasal verb.

The books on Shakespeare 10 shelves.

(1) takeup B (2) takeover
(3) tumup (4) turnover

Read the following passage and answer the questions that follow (Q. No. 18 to 22) :

him 1

18.

While riding his bicycle between two and three O’clock yesterday morning along the
unfrequented locality of the Pimlico Road, a young of foreign extraction named Joseph perceived
the body of an individual stretched apparently motionless in the gutter. He alighted from his
machine and discovered that the victim of the occurrence had been assaulted by some criminals,
who, after relieving him of his watch and all available cash, had made off undetected. The
unfortunate victim, who appears to be well-connected, has not yet been identified. He lies at
present at the Three Stars Hotel in a critical condition, whither his compassionate rescuer escorted
n a cab. Hopes are entertained of his ultimate recovery. The police are on the alert.

‘unfrequented locality” means

(1) people often go thf:rc . (2) not often visited by people
(3) frequent transport is not available (4) prohibited arca
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. ding
19, Joseph is ~, accor (2) a forcigner
(1) anative of that placc @) the viegm
(3) anoldman —
f dt he VlCtlm T
20. Where did the bicycle rider fif @) in the field
(1) at Three Stars Hotel @ | 'the e
In i
(3) inhospital s ¢ drain —
21. What is the meaning of the expression ki (C;J)nn (’i::ted ?
(] ) ha\rlng QOOd socml contaCtS (4) aVlng connected to the assallants
(3) well connected to w connected with the crime
T ——
22.  The ‘machine’ mentioned in the passage is_
(1) the weapon used by the attacker(s)
(2) the victim’s personal weapon
(3) the bicycle
(4) thepolice gun ,
23. Choose the word which is similar in meaning to the underlined word in this sentence.
The poor family has no visible means of subsistence.
(1) employment (2) respect
(3) livelihood (4) encouragement
24.  Choose the word that is nearest in meaning to the underlined word in the sentence.
His Cartoons lampooned the leaders of his time. 7 '
(1) Praised (2) Exposed
(3) Ridiculed (4) Elevated
25. Choose the antonym of the underlined word in the sentence.
Kiran’s attendance at school was s sporadic.
(7" Regular (2) Occasional
i) Shap (4) Co-ordinated S
o @hhooschlhe wo:ﬁ th?t has the opposite meaning of the underlined word in the sentence.
(1) encf)n(:rsai\:;d ¢ stranger, her eyes dilated with fear.
i d
(3) reddened (2) widene |
(4) quietened -
27.  Choose the correctly spelt worq.
(1) Playright ol
(3) Skilful (2) Mispe |
AP R
6-B
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geverence

Choose the correctly spelt word,
(1) perceverance

er
(3) perscverance Ei; pcrchcransc

Choose the appropriate sct of Prepositions
The Sun is ‘

(1) on,of

and fill in the blanks in the following sentence.

the clouds, Vani drev gt picture _—— aCrayon.
(2) above,with  (3) with, for (4) against, across

30. gl}oozc the correct set of prepositions and fill in the planks in the following sentence.
tirre pride and envy Satan rebelled God.
(1) Off, on (2) in, with (mh, with ‘ (4), bYs againSt
V’-——-_ g .
31. If the simultancous linear cquations 2x — ky + 5 = 0and3x+2y-7=0 aave & amque
solution, then
2x—ky+5=0508050 3x +2p - 7 = () 03 550598 DEBrd HWECeT L JZE FES
&08, SR
4 ‘ : k # _i
(1) k=—'3‘ (2) k=-3 3) k#-3 (4) 3
32. 30 apples and 23 guavas together cost Rs. 392. If 7 guavas and 15 apples of the same kind
together cost Rs. 178, then the cost (in Rs.) of an apple 1S
30 $BS Body S8 23 @S Sog Ango 6 392 Eried. BBCEY T =D Jody,
15 &8 Sod Ingo pd 178 Srnen wond, 2§ BS Dok p8& (Sriee®)
(1) 20 (2) 14 (3) 10 4) 4
33. 190of 214+27-36+3X6+4-2= .
(1) 426 (2) 356 (3) 383 (4) 330
34. The sum of all two digit natural numbers which are divisible by 3 is
3 3 grhodwd Bobose S dopgo)ol Ingo |
(1) 1665 (2) 1776 (3) 1110 (4) 1265
th th .11 1 :
35. The sum of the 9" term and 12" term of the series —, —, — ... is
| -7 1115
-1-, i, L, .. BBt 95 H80 HoBakd 125 drre Iwgo
7 1115 =
1 10 10 98
— 2) —= 3) — —_
M 5 @ %63 R #2365
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36, Ifacard is drawn at random from a pack of 52 playing cards, then the probability of getting
acard having a prime number is
52 08 SwoH oo fo o E EQ%0d o:’mdai)‘)éom 2E HE 508 é,aéajéo ©y
komgm SOAS 0¥ Sy S &oda‘ag e .ooe,r;’nsé

4
1 2 : 3 Dl
A n = — 4)

37. Iftwo dice are thrown simultancously, then the probability of getting distinct numbers on
them is . |
Soih 0o DETeos' FRoDSHHE:, TED DDY) Sopgod FosEdE o Sowdsd

5 5 1 7
- 2y — — 4) =

38. If 3 coins are tossed simultancously, then the probability of getting atleast 2 tails is

3 TRBODN IST00S* NHEIVIBYE, EQ30 2 ool Fosas Ko dogrdgd
37 1 1 e 1
— — 3 — -

M 3 @ 5 3 | (4) 3

39. Among the first nine terms of the sequenccS 7, 11, 19, 31, 67, 131, 259, 515, ..., the

number which doesnot fit into the sequence is
5,7,11,19,31, 67,131,259, 515, ..., 950ES500¢5° D 00563 018 JTedt, 8 ol ESuos*
DBJE (RH0EQ) Sowg
(1) 515 ) 7 (3) 31 (4) 131
40. The tenth term'in th izgzl i
i e tenth term in the sequence -, — 773> s
4 2 3 2 1 Sy Sondts % 5
21 7 7 3’ 3+ DeD(S0 Q ABS DKo
15 62 27 - 104
) — ) — bl kil
Ol @ 3 5 @ 35
4].

Among the first eight terms of the sequence 1, 2 2,4,8,32,256,4096, ..., the term which
doesnot fit into the sequence is

(1)- 39 ¢e 2) stte (3)_ g™ term @) 7™ term

1,2, 2,4, 8, 32, 256, 4096, ... em@m'oes‘a 088 WD dTeS, 8 vHEOS*
DBIEA (2204) H&o

(1) 335 4o (2) 535 “s0 (3) 8% dko (4) 75 $&o

(AT,
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42. The tenth term of the sequence 7, 14, 19, 29, 40, 44, . i B s
7,14, 19,29, 40, 44, ... 05505 5655 %50
(1) 73 (2) 103 3) 93 (4) 83

43. IfABBB-——AAABA——-BABAAAB - _ BBA js the given letter series with six missing
letters, then the correct option which contains all the missing letters in the order from left
to right 1s
8 2oS ©ETos* ABBB -~ AAABA — - BABAAAB ——BBA©30 88 ¢80 @
©o08, S*DoRS BET 0 SN0BI B Kod KE SISV @B ES00S° EINGY) JOGHI
mﬂaéo ‘ :
(1) ABBBAB (2) ABABAB . (3) BABABA (4) BAAABA

44. 1fBDGL, DGLN, GLNQ, is the given series, then the correct option which fills
the missing term is - .
BDGL, DGLN, GLNQ, w38 S5gs wowd, SHoDS BT Jrood HBGI
:sz)')éo :
(1/) LNQS (2) LNQV - (3) INQT (4) GLNV

45. IfZ25A,X21C, T13G, is the given series, then the correct option which fills the
missing term is : '
-725A, X21C, T13G, 036 58 35 wond, oS TR Yrood VOGN
zoi)aéo '
(1) S5L (2) TIOM (3) NIM (4) RI0K

46. In a certain code language if the word PENCILS is coded as WKSGLNT, then in the same
code language, the word DRAWING is coded as _
2§ dPY §&ariad’ PENCILS o3 38508 WKSGLNT  §& 3%, o3 56l
DRAWING e3580 s, §6
(1) JWEZKOI (2) KXGZPH (3) JTWEALPH (4) KXFALPH

47. Inacertain code language if the word DELICIOUS is coded as DLCOSEIIU, then the word

which is coded as COOATHCLE in the same language is
DELICIOUS & 5o°d) w8 383 §6erdd’ DLCOSENU m &6 &%, o8 §6aad

COOATHCLE rr 66 Bobnbs 560
() CHOCOLATE (2) CHAOCOLET ©) CHOCOLAET (4) COACHOLET

NIRRT o-
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In a certain code language i the WOrd FRUITS is coded as 618211878, then in the same
code language, HEALTTHS coded as ]

€ DO0Y EGerae* FRUITS @ 980 618211878 m 66 wond, o §'6eraes® HEALTY
QA §'& ‘

(1) 2’85] 15719 (2) 85112208 (3) 19222615719 (4) 19222612208

—

49,

A point B is 2542 m away along North-East dircction from A. Another point Cis 50 m

distant along West dircction from B. The end point D is 50v/2 m away z}long South-East
direction from C. Then the distance (in meters) between points B and D 1s )

B o3 Doth A So0d Gasg BIS' 25v2 .o drdocst wod. $6' Dot C, 8508
B¥ Jowd B %008 50 . &r6oS* Gob. C Hob wody Dok D ef)cdh bist

S0V2 5. drGos*t toB. vyt B 5000 D Dot S8 660 (0ege’)
(1) 50V2 (2) 50 (3) 25 (4) 25V2

50.

A clock is so placed that at 6 pm, its hour hand points towards South-East. Then at9 pm, the
hour hand points towards '

(1) South (2)- North-West ~ (3) South-West (4) North
Faogo 6 Hobok el KBTI, TASR fobeosvey eh)chiopomr Godiin
GOoRT . VYW, oG 9 Kobeod Hobeosvey Srdod &7

(1) &8e0 (2) srasnisgo (3) 368 (4) wgdo

o1.

Two friends A and B are standing opposite to each other at about 8 O’clock in the moming.
If the shadow of A is exactly to his left side, then the dircction faced by B is

(1) South (2y West (3) East (4) North

“8ado § oo |Fodos” A, B o3 afth dghen 2888 $8%% B8 GHM™ dewd
G, A GBE), A POBoT ©E IS IYS o, B & wPINPor) &F

(1) Séeo 2) 56556 (3) &rey @) s8do

52.

Ais B’s father. Cis B’s sister. C’s husband is D. E is A’s brother. D’s son is E. Then F is B's
(1) Nephew - (2) Cousin (3) Son-in-law (4) Brother

B &), doé A. B g 360 C. C sy #8 D. A QoY FSKd E. D @,
Eodrdodo F. wond BE F

(1), Bosendo (2) &=25 3) et (4) S

53.

If A says “B is the son of my sister’s daughter’s husband’s father-in-law”, then A is B’s
(1) Maternaluncle - ° - (2) Paternal uncle

(3) Father-in-law (4) Brother-in-law

“Bodard o 60 G0, Srdeth g, &g ooy, SrSomd HSr&d”. ©d A B8,
BE A : '

(1) 89 &6k (2) o RS

(3) Sorsomsy (4) oS So 35008

Z

IR o
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sS40 WA+ Bmeans Ais son of B and A x B means A is prother of B, then A x B + C means
(1)  Ausfatherof C ‘ 15;) ‘ A is son of C
(3) Bis fatherof C 24) i is brother of C

A+ B ool B oY, S30%H8 A $006 A X B woll B B0E), BEHE A vond,

wdyco AXB +Ceod

(1) Cwg) Sod A 2) C B0, Losrdd A

g cither Telugu or Hindi or English. If
poth Telugu and Hindi, 25 both English

o
N

Every student of an educational institution speak
50 students can speak both Telugu and English, 35 .
and Hindi, 5 can speak all the 3 languages, 15 can spcak only Telugu, 25 can speak only Hindi
and 10 can speak only English, then the total number of students of that institution 1s

w8 ATFROR[SN PAITEY BenHd md S rod o 8o 2002 MR Srirderd.
- Q & .

- 50 od Tgien By 085w nohS Bodos, 35 5208 Benid BN robd
Bodod, 25 H00d R0HQ 508w gyog Bodo3d, 5 Sordy rdesr, 15 Sod
et S, 25 %008 Trodd Srgds $8a80 10 S008 R0HQ S Sy
HOAB, & J0ISV Iwgo ITrge Sowg

@ e -3 - .
(1) 145 (2) 165 (3) 150 (4) 160

56. The converse of the statement “If a number is even, then it is divisible by 27 is given by “Ifa
number is divisible by 2, then it is even”. Here both the statement and its converse are true.

With this information, choose the statement among the following four true statements
whose converse is also true.

(1) Ifa triangle is an equilateral, then it is isosceles.

(2) Ifanumberis divisible by 6, then it is divisible by 3. \

(3) Ifthe sum of all the digits of a number is divisible by 3, then the number is divisible by 3.
(4) Ifaquadrilateral is a square, then its sides are equal.

“a8 Sopg HBJoPg wond, ©8 2 B rioduthdod”. ol HITLo BwE), IS0
“28 dopg 2 B wrhondd, ©d HBdopg”. A E PSS Hodoke T IIdFEBo
Bodr Jdgo. .

& B5raEod, o8 ad)d T I8y PISTOS!, IHEgeHED e 2665536335
BITT) NohEod. ’

(1) 2§ @%huo HBowrdv BHonDB, ©8 JDBErty (BLHeITE08.

(2) 28 domg 6B erRoN288, ©8 3 T8 rAoduddod.

(3) 2 Jopgs'd woswdNgo 38 2rhoddd, o dowg 3@ grhcdRBdE08.

(4) =28 S&dyzo SESPB, T T gharey HSFSS0.

(TR — 115



@ Booklet Code

A

-— S‘ In €. ¢ [ ’
57. I '@’ means *+°, *#° means ~» €ans *+* and ‘%’ means ‘x’, then the value of

49@64H75525%36 is
(@ wold ', 4 wodd =, 'S 900 T W0 % ozt 0 word, 49@E4HTSS25%36

S, dews
(1) 5 (2) -123
(3) 93 4) 6

ﬂ— L —
58. A car covers a distance of 560 km in 8 hrs. The speed of a bike is five-sevenths of the_ speed
of the car. If the ratio of the speeds of the bike and a train s 5:9, then the distance (in km)

covered by the train in 5 hours i
2§ 56 560 §.%.0 drod) § fobod’ DK, 2.& 36 35S0 & 5O 3K0e5* Ddody
285 Sodom &od. & BE $odAN 28 S0 G Bmom‘)g 5:9 wond, 5 fobud* Jey

3GHHOA Erddn (8.20.00") .
(1) 250 (2) 450
(3) 350 - (4) 400 .

59. Thedistance between two stations A and B 1s 240 km. It takes 2 hours for the two cars Land
W to cross each other if they start respectively from A and B at the same time towards each
other. Further, it takes 8 hours for L to overtake W if they both start at the same time from
A and B in the same direction. Then the speed of the car L (in kmph) 1s

Bof A% A Sobcsw B o 505 8o 240 8.2, L 508csn W o3 Sod 578 Sédm
A 50050 B o 5008 28 5500506 200endd I&dsHm PorSh, u¥ TITES
TERLE 38 s'wo 2 foben. 208, & Bodd 56 AS8csn Be S00d 23 Sdabost
200endd 23 67 PArdy, WS L oremdd 38 soo 8 foben. wdydk s L
g, 3o (8.20/Kot%o)

(1) 45 (2) 50

(3) 75 : (4) 80

60. An employee will be late by 12 minutes to his office if he rides his bike at a speed of

40 kmph and he will be on time to his office if he rides his bike ata speed of 50 kmph. Then
the distance (in km) of his office from his house is

28 &OGH 08I Irtrd P8 Kobk 40 8., © Kod S8 vEI uhit 12 diew
BOJFOT DEHE W 0050 ©E) Irtrd T8endd Kob% 50 8.5, © IKos SA%E ©&d
LR HBSS 150005t BHE . ©od O3 208 Hod w8 SRV Ko SrESD
(8.20.00¢5%)

(1) 80 (2) 60

(3) 20 (4) 40

MR 12.8
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Directions for questions from 61 to 63 : |, cach of the following questions from 61 to 63, a
statement is given followed by two conclusions nymbered 1 and 11 You have to decide which of
the conclusion(s) follow(s) the statement.

GIVe Your answer as

(1), if only conclusion I follows;

(2). if only conclusion II follows;

(3). if neither conclusion I nor II follows;

(4), if both conclusions I and I follows.

61 S008 63 38% Ko BHOH “rSsen: Eos cwsgpdS 61 Soob
SETIS* 8 BISF0, T Fowd 5605 [I ©F s @i e (conclusions)
B35 D HDS B vHDdes ekHsoncr 26 IFEOTE.
D8 [ SMEDH sB8Y, B IdreSo (1) ed;

eHDS I g ododd R, o dSrrso (2) ol;

eoDHen LIl oS 06 oHsdossdd, H ssrmso (3) o9,

chmen I, Il o Bodr sodsh, B simgrso (4) ©d ondgod

63 S6% Ko @’){106’
Qﬁsd@o&.

S

Os
Lw\

61. Statement:  Asit stands today, some Indian sports are not what {hey were once. India
had significant victories in football and hockey earllgr.
Conclusions : I)  Presently we have no good players in football and hockey in our .

country.
II) Indialost many football and hockey matches in recent years.
5850 1 S8 FR) godob $deo a8yt edtom 3k 8. 2088 Y

HEerS 0050 Tt TEEdFo KodoHd Jaciro Fobod.
eHdodes : ) (BRS0 58 B¥os” YFerS 5005w Fes* Kol sl B

) adsvseood® erdddio Tor 8 YEerS ok 5§ Fod
wdzcho IBod.

62. Statement : All rectangles are parallelograms,.
Conclusions: I) No parallelogram is a rectangle,
II) All parallclograms arc rectangles,

PSSSo o) b8 ST SHLIE T Sy, '
eHddes ;1) 2 d8rods SRR S SdEmsn 5.
M) o JErodl B8N e 5§» S80S,

(A 1B
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A and B arc extremilics of a diameter of a circle. P and Q ar¢ any two

63. Statement : ‘

points on the circle such that APBQ is a quadrilateral.

Conclusions: 1) [APB= L/}g?
m  [PAQ=(QBP -

G580+ A Sboo Bow o8 5)F0 Gng ok agvsn @ng, oSihodIe.
P o805 Qoo APBQaS Sébdyye skhgiatym S)gop o S8 0ol
Do oyen. ‘

e 1 ) Mﬂé@

64. A toweris in the shape of a cylinder surmounted by an inverted cone of the same base area
as that of the cylinder. If the radius and height of the cylinder are 26 m gnd 14 m
respectively and the height of the cone is 5 m, then the lateral surface area (in square
meters) of the tower is ‘

28 50D TR WPTOGIE IS erPTogo LIRS o Fopodd SPodILT
&) Erdoc® o8 FY6o (. Spho Tk, TRrgin, Jden SO3T 26 ., 14D,
£0050 Fomd G¥), & 5 H. vowd, sFYPlo DY, PH S (FEgSL) ITog0
(5. 0. 0e5%)

(1) 330 (2) 22046 (3) 3306 (4)" 220

65. The partabove the conc filled with ice-cream looks as a hemisphere surmounted on its top.
If the height and the radius of the cone are 13 cm and 4 cm respectively, then the volume
(in cu.cm) of the ice-cream is _ :

DR JoHwBS 2§ Fop D), DKo’ HHED, S5°000S v gor &Ia.
oY B, Ik, TEHETE SHIT 13 0., 4 Do.bo. wond, v HHESH @NY,
20858370 (P08 Do.eeT) |
(1) 198 (2) 176 (3) 352 C4) 396

66. From a wooden cube of edge 14 cm, a right circular cone of maximum volume is carved

out. If the volume of the removed portion of the cube is V, then 3 V (in cu.cm) is

14 20.0. w0l HOAS 2.8 sy D850 $Hod KOY WSH0Ir0sn LOAS 0t ©ov
5)805 FopoHd BEYLH. WSIN Kod Sohodd o R0, 8BBS00 V, eond
3V (508 Donded?)

(1) 2744 (2) 2025.33 (3) 868 (4) 6076

- ICHRMGArPIbare 14.8
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A solid metallic right circular cylinder of radjys 3 inches and height 8 inches is melted and
recast into identical hemispheres whose base i; cqual to the base of the cylinder. Then the
number of hemispheres thus formed is ‘

3 wotbero F7ggo, 8 wohew Ay Ko ok Hod 02 5)B0% ST S €8A0D, ©
Sgi0 @), ST SENTBN s Lons wesHIrd SN T TETTG. wiyds
& dEom ErrodS @gﬁ‘v‘o Ropg

(1 2 (2) 4 3) 6 4) 8

68.

A solid iron cube of edge 24 cm is melted and recast into 2 rectangular sheet of thickness
2 mm. If the length (/) and breadth (5) of the sheet are in the ratio 6:5, then /45 (in cm) is
242305, worKe 2.8 K& a%0d 5505 £6A0D, 2 2.5, Soodo EOAS 8g° SHHPTEY
BHM FS FTH. 6 % Bog FEH (/) So0050 3deny (b) © QS 635 wons,
wdydo [+ b (Rondos?)

(1) 484 (2) 528 (3) 561 (4) 594

69.

A vendor sells vegetables at 12% less than the cost price, but manipulates the weight of
800 gms as 1 kg. Then he gets

(1) 10% profit (2) 10% loss

(3) 15% profit (4) 15% loss ,

2.6 DECHT G Brémohed ) G8 %08 12% é&bf)& o0& d, eond 800
(FEne 26HS 28 S mSnm SN wied. v w88 5B

(1) 10% erglo (2) 10% 8%0

(3) 15%erdo (4) 15% &%0

70.

A dealer bought an article for Rs. 400 and paid Rs. 40 towards its transport charges. If he
sold it for a profit of 20% on the cost price, then he gets

(1) alossof Rs. 40 (2) aprofit of Rs. 40
(3) aloss of Rs. 80 (4) aprofit of Rs. 80

2.8 5686 2.8 5390 400 Erioso R, TR Savea PEY) 1808 40 &riien BYoT . FF)
$62 20% ergod® TAD DN, YD V&G o038

(1) 40 &ruen S30 (2) 40 &ruen ére;’o
(3) 80 &rnen 330 (4) 80 Sxuexs erz5o

A s
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or Rs. 4,000 ata l0ss of 10%. Then the price (in Rs.) at which it myg

71, Atclephone is sold [ Sp s
be sold in order to get a pr ofitof 17% is
n€ BOFS 10% Syod* 400 )0 Er10K donoswbon. 17% < w0 Fodardb, iy
Donossons $8 (Erod’)
(1) 4,400 (2) 4,800 (3) 5,200 (4 55800

72. If a certain principal amounts (o Rs. 34,000 in 3 ycars and to Rs. 40,000 in 5 years at 4
simple interest of 1% per year, then =
50580708 1% erbShE' Fod wdw IVoSgTes* 34,000 dries $008 SEEELAMET
40,000 &rie InEI0B, LIy 1=
(1) 8 Q) 15 (3) 10 4) 12

73. Ifaprincipal of Rs. x, at a rate of interest 20% compoundcd annually for 4 years amounts
to Rs. 62,208, then x = ' '
X 6o, oden E0y FOT 20% SESG Kedod' 4 SodGB0o S8 ©ahy o
6>.62,208 ©ond, wdyd x =
(1) 30,000 (2) 40,000 (3) 35,000 (4) 45,000

74. A man borrows Rs. 5,000 for 2 years at the rate of interest of 16% compounded yearly. If
at the end of the first year he paid back Rs. 500, then the amount he should pay at the end of
the second year is
2.8 558 O 16% S84 B0 5,000 Srios 2 SoSG)8Ene TerdE wiym SosTyh.
3G Jodyrrodos” v 500 Srien IHELH DY, BodS Sodorodos® wdd
BOodSoRS By
(1) Rs. 6,228 (2) Rs. 6,148 (3) Rs.6,728  (4) Rs. 6,648

- 75.

The simultaneous linear equations 2x — 3y +4 =0 and 3x ~ 2y — 4 = 0 have

(1) no solution (2) unique solution

(3) finite number of solutions (4) infinitely many solutions
2x =3y +4=0508050 3x -2y -4 =0 03 330508 ¥ire DAEBeTrery
(1) 65 Gobdy (2) b.g_é TES Gotnod

(3) FEdo dopg HOMEOT Gotnod  (4) @éoé@:\ég FESeD &0i0m

LT 168
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Following are some of the organisms in an ecosystem: Arrange them as a food chain,

D Fog ) Grass W) Snke V) Fegle - V) Locust
A AR ISV ) P gods By S S Wi Foodom vloded.
AN 1 8§ Aoy e my >3 V) @8 V) a8
(1) N=21=2H=IV=Y ) “.»v-ﬂ-—ﬂll-—)lv
) V=22 V=1 @ vV~ n=I1v—=Ii-—1 .
)~
77. Snow-blindnessisdueto _
(1)  Infrarcd rays ) UV -Arays
(3) UV-Brays ) X - rays
“\-;e?\ °§ o
(1\ Sode Sow (2) UV- A&
3) UV-B&3sr 4) X - 8§30
78, Pick up the mismatched pair ‘
(1) Coxal glands - Scorpions (2) Malpighian tubules - Insects
) \'ephn'dia Prawns (4) Flame cells - Flatworms
35T 28 38 28D HJoSod

(1) S§S o - 88 (2) S-S TS - §Lsen
(3) Sy - Sodge (4) =gt Seed - 2IRHY JEDW
Match the following.
List - I (Chordate group) List - IT (Example)
a) Fishes 1)  Bungarus
b) Amphibia . i) Camelus
c) Reptlia i) Labeo
d) Mammalia : iv) Passer
V) Bufo
$o8 o8 2836T08.
=g - 1 (53 SSarro) ‘=0a - I (aT5E)
a) Sepges 1)  avomes
b) &FcHITen ) 3ves
c) Rod)Tren ) &oagr
d boe V) s
V) aumpe

The correct answer is

BBES SEPTEI0

(1) a-iii, b-v, c-i, d-ii () a-iv, bey, c- 1, d-ii
(3) a-ii, b-1, c-v, d-iii __________M b-1v, c-11, d-i

A 17.8



80. Catalytic converters are used to
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(1) Control SO, pollution

(2) Control poisonous gases in automobile exhausts

(3) Control particulates of exhausts of thermal power plants
(4) Disposc hospital wastes

SLBEBE $5c3608 S8 DARBrATE

(1) SO, sendg dahoge

(2) IS sHoe FHSW IATENHO Jcko@en

(3) &8 dbgd oo FKSD Bedrd Soge dchonsd

4 TLS SSCSU SOA0YSK

81. Polyembryony is common in

(1) Banana (2) Tomato (3) Potato (4) Citrus

2aSvdodd (Polyembryony) 2e* S8Rrardeo

(1) =88 (2) Srest (3) wom#ood  (4) ISy
82. Match the following. :

List - I (Alkaloid) List - IT (Use)

a) Caffeine i)  Antiseptic

b) Nimbin ' i1)  Sedative

c) Scopolamine iii) Excitation of nervous system

d) Pyrethroid | iv) Treatment of Malaria

v)  Insecticide
808 T 28IEH[0A.

D& - [ (weperons) =Dee - I (&HRKo)
a) a8 i) Do&PE
b) 2005 i) Sk Soo
c) aFoS i) SA8g35% eda so%o
d) oo iv) $o880sr D8
V) L&l

The correct answer is :

DOGS JSrErIS0

(1) a-iii, b-i, c-ii, d-iv (2) a-v, b-ii, c-i, d-iii
(3) a-iii, b-i, c-ii, d-v (4) a-i, b-iii, c-iv, d-ii

A 5B
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g3. Statementl:  The NADH synthesised in glycolysié is transferred into the mitochondria

(1)

(2)

3)
(4)

Ty 11 TS oRSS' 908828 NADH pots'sol@osr®’ &
Fgog 111 8eagdoes® NADH &ood NAD' 3o, T aS00T

(1)
2)
3)
(4)

and undergoes oxidative phosphorylalion.

StatementII:  NADH is oxidised to N AD" fastly in fermentation and slowly in acrobic

respiration.
Both statements [ and IT are trye,
Both statements [ and IT are false,
Statement [ 1s true, but statement II is false.

Statement I is false, but statement II is true.
383 3‘@3&8‘&5 Bodod.

& FGHBINS” I Bl

w8580 BokaeHod.
Fgmgen I, I 988303,
Frgpgen [ II 3808 3.
gy 1 308038, 9 argwg I HBGIB 5.
epg 1 505088 7%, 9 Tgwg 1 m@sa.

84.

Study the following statements and pick up the correct ones.

)
1)

1)

IV)
8ob

D

111)

V)

(1)

No energy expenditure takes place in diffusion.

In facilitated diffusion special proteins help to move substances across the membrane
by utilising ATP.

In plants transport of materials over longer distances proceeds through the xylem and
phloem and is called translocation.

Facilitated diffusion is non specific for molecules to be transported.

woTen ®godo ¥R 83 T8 HYowod.

DBe (diffusion)es® 48 DIGTKO =EH.

Hoesds dd8es® (facilitated diffusion) 0858 @8BS oen ool geSo Tgo
Saree Bohdoes® ATPR dABrhothivodron.

3G o oY, FIE FEFTO0 TIT SrdFosrods STge Ser VT
288 (translocation) @odr&d. -

Soezsdd D8 (facilitated transpornt) Sarerr BosaSers &%;aoé)o& '32«5,10 5%
(non specific).

L1l (2) LIV () Lm (4) MLIV

IR 195
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85.  Study the foll owing and pick up the correct statements

) Amycorrhizais a symbiotic

associalion ofa ﬁmgus with a root system.

II) The water loss through the 16aves of plants in its liquid phase is called guttation,
IIl) Transpiration occurs mainly through the stomata in the leaves.

IV)  No energy is required for diffusion.

(1) Tonly
(3) L ITandIIlonly

(2) landIIonly
(4) LILIlandIV

8§08 T3 wgoHdo DR JBS woT 0 KBokod

) 050z o038 30oEo, I8

;’:S;S‘c’go QT 2SS Bowodo.

) §Q) IoHo shHe oo 3D (BS Er20S" w0 o SER) HodorSo (HB4Y)

ol &.

) =ddEo Swpgomr sHod’ &od JE Sogro TGO zzd::‘béao'ﬁ.‘

IV) %808 #§ esdo Béb.
(1) 13mgd
(3) 1,1 S08aso 1T S

(2) 1508050 I SrE
(4) " LII, I SoBcso IV

86. Appearance of hair on the head of human embryo occurs at this month of pregnancy.

(1) 3“month

(2) 5" month

(3) 7% month (4) 9™ month
SrSS DowPSPS* AT 20mE & Jod” Ereo dop Jognses Trddo (FEoF0HE08.
(1) 35 3o (2) 55 JIo
3) 75 3o (4) 95 Je
87. Pick up the odd one
(1) Mangifera (2) Cycas (3) Pinus (4) Ginkgo
Demr && T HYoSod
(1) drozdo (2) 255 (3) PSS (4) Aos’

88. Genotypic ratio of Mendelian Monohybrid cross in F, géneration is
2306055 8 HoE6 H0EC600G'd F, 8806* aglrd diya.

(1) 3:1 (2) 1:1

(3) 1:0 (4) 1:2:1

JOCEEATEMETIE

20-B
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g9. Statementl:  Insponges, digestion is intracellular and they have canal system.
StatementII:  Cnidarians having exoskelcton ar¢ able to form islands in sea called coral
reefs.
(1) Both statements I and IT are trye,
(2) Both statements I and IT are false.
(3) Statement [ 1s true, but statement I1 is false.
(4) Statement L is false, but statement II is truc-
gpg 11 B)0zEosS’ Serodds 2gBohH 2808 DB Soergdgsy G0tod.
rgwg 111 iy wpdondo §DAS ABBCDNY 5 50806° Byred EIteY. T8
B¢ bedren woir.
(1) agwgen 1,11 D0X.
(2) oTgmgen I, II 58808 5.
(3) ogws [ 30038, §°Q Tgdg II 588038 57e.
4) ogpg 1 DB 57, E TgPS IT $86088.
.90, Function of synergids is -
(1) Nutrition (2) Directing the pollen tube
(3) Formation of endosperm (4) Formation of pollen grains
245c5% Eeer (synergids) 28
(1) &= ' (2) doiTeQs Srged) Qggousdo
(3) KSR DEYS0 (4) oY G)EIEL0
91. Thenumber ‘zero’ was first invented by whom?
(1) Romans : (2) Arabs
(3) Indians (4y Greeks
B0%) ©088 AGEL EQDES TE?
(1) &S0& (2) wsuye
(3) erddosine T (4) Ao
92 Who is the first martyr of the 1857 Revolt? |
(1) Mangal Pandey (2) Bahadur ShahlI
(3) _NanaSaheb (4) Jhansi Lakshmibai
1857 8&Krertnes® &9 @355AM D58 T OE?
(1) SsofiSarod (2) Bods wdrs

-

(3) T Fod | (4) sy o§ o

AR 218
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93.  Inwhich Indus valley site more number of wells were discovered?
(1) Harappa (2)1 Kalibangan
(3) Lothal (4) Mohanjodaro
D Dodrstah HATEnS* JEyd WFoS! TP EHAEwASD.
(1) S8y (2) 5OworS
B) s'os (4) Ivwos'ers
94. Name the Principal of the Anglo-oriental college, Aligarh, that changed the attitude of Sir

Sayyad Ahmed Khan towards the Indian National Congress.
(1) Theoder Marison (2) Henry Siddons
(3) Theodore Beck (4) William Archbold

eS8 = 8aD SO0 DL JE JaHgd @#@5@5 BB SrYS 8dE wofi-L.ochobd

SeTo PYPTS .

(1) B85 Sov0dS (2) TR JdY
(3) s-H6 BF (4) DdchHo sHS'Q
95. Match the following.
a) Lingaraja Temple 1) Chola
b)  Vaikunta Perumal Temple i1) Hoyasala
c) Brnhadisvara Temple ii1) Ganga
d) Belur Chennakeshava Temple iv) Pallava
& Bod TE 2FVcH08.
=dea-] eIl
a) Oonoz s0dHo ) o'
b) 3808 wHIrE socho ii) FoHhIFre
c) 2)THEE sooho i) Kol
d) Derdd BHBES sooho V) S
The correct answer is :
HHSDS DIrErEI0
(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-iv, ci, d-ii

(3) a-iv, b-iii, c-ii, d-i

(T

“4)

a-iv, b-1, c-11, d-iii

22-B
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96. Match the following.

a) Lord Dalhousic i Local Sclf Government
b)  William Bentinck ii) pindaris
¢) Lord Hastings iii) Thugs
d) LordRippon iv) Annexation of Oudh
& Bod B 2dWDoA.
el o1l
a) o§ ESTW i) %‘aé 55663'0:6
b) Ddc%o Boi3§ i) 0G0
c) ©°§ wryof) i) SR
d o§ oS ) T6 egdw

The correct answer is :
STGTesohY DIrddw '
(1)  a-iv, b-ii, c-iii, d-i (2) aiv, b-.lll, c-il, d.-1'
(3) a-, b-iii, c-iv, d-ii (4) a-il, b-i, c-iil, d-1v

‘India House’ established in London was handed over in -

97. The revolutionary organization

1907 to _ »

(1) Mahadev Govinda Ranade ~(2) Gopal Krishna Gokhale

(3) BalaGangadharTilak (4) Vinayak Damodar Savarkar

©0dSS* FhowwdS RS Ko ‘QoBcSr 5% 1907¢° 508 ed)homdo?

(1) %585 Adod odd Q) Frofy Fad

(3) wrofomrss 8o (4) dToRg TIrSE FI3GE
98. The Sabarmati Ashram was established by Gandhiji during the period.

(1) A.D. 1906-1907 (2) A.D.1913-1914

(3) A.D. 1915-1916 (4) A.D.1917-1918

mobd va8d sFioH FHodI sedw.

(1) .4 1906-1907 ' (2) §.4. 1913-1914

(3) é.4. 1915-1916 (4) &.4. 1917-1918

99. Inwhich year Vasco da Gama first reached to Calicut?
()-AD.1498  (2) AD.1492  (3) AD.1598 (4) A.D.1491

2 DS BoS TR BT BEBFOMT 508 Jorky?
(1) &.%. 1498 (2) @4 1492 - (3) &4 1598 (4) 8.4 1491

IR 238
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100. The Hunter Committcee was appointcd
(1) To control extremists activity
(2)  To negotiate with moderates
(3)  Toreport on salt satyagraha
(4)  To enquire into the Jallianwala Bagh Massacre

ToLE E0i3 B B% DobHoundidd?
(1) vaésdo SEgOR WwDELTRE

(2) DdTdod® HondoHotd

(3) &dy dogron IILE FEH

(4) 200%8 Terwrh Hodon VT ERK

101. Which text among the following is considered as Buddha’s biography.

(1) VinayaPitaka . (2) SuttaPitaka
(3) Abhidhamuma Pitaka | (4) Buddhacharita
808 TIS* O Koo med Gof), 2D OB rdodndodIB?
(1) D505 Hes¥ (2) Hog D
(3) ©DESy HLE (4) engsos
102. Who described 1857 Revolt as the First war of Indian Independence?
(1) Ganesh Savarkar (2) Vinayak Damodar Savarkar
(3) BalaGangadhar Tilak (4) Vallabhbai Patel
1857 8&ertndd D& rdd Sedody Sordoom S8oDIE JSE?
(1) #32 56,6 (2) dTchE TIrEE FSE,E
(3) ero Komrss 8of (4) Sofered HBS
103. Which was the first Mookee Movie in Telugu?
(1) RajaHarischandra (2) Bhishma Pratigna
(3) Malapilla (4) RaituBidda
BenHes® 3ndes Sord Do 6?
(1) oz T0Fod L (2) DYy ©o
(3) Srody | (4) B DY

104. In which year the Muslim League passed a resolution demanding Pakistan?

(1) A.D.1937 (2) A.D.1936 (3) A.D.1940 (4) A.D.1942

9 HosdyBost S0%0 OF FEAS Biros By HomR0N0B.

(1) &% 1937 2) &4 1936 (3) &4 1940 @) & 1942

(TR B
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169.

' Booklet Codc-I:ﬁ_i

Choose the countrics that joined the steering board of First Movers Coalition led by WEF

and US Government in May 2022.
(1) Japan, Sweden and Germany (2) India, Germany and Sweden
(3) Japan, Germany and India (4) India, Japan and Sweden

3 2022 &* WEF $:00%0 US @20d50 TroS8dto Sirodl 5§ S5:°56) §o0BAS D)
QBoh SRS BOS daen.

(1) 22§, @S Soocs» 28O (2) @oASr, wByd $:8050 VGBS

(3) =25, 28R Sodakn godass 4 ao&oﬁr 23S S08a50 VGBS

170.

Ason August 13, 2022 India adds 11 more wetlands to the list of Ramsar Sites. Choose the
correct statement from the following regarding the number of new sites added from the
respective States.

(1) Tamil Nadu-2, Odisha-3, Jammu & Kashm1r—4, Madhya Pradesh-1, Maharashtra-1
(2) Tamil Nadu-3, Odisha-4, Jammu & Kashmir-2, Madhya Pradesh-1, M aharashtra-1
(3) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-1, Madhya Pradesh-2, Maharashtra-1
(4) Tamil Nadu-4, Odisha-3, Jammu & Kashmir-2, Madhya Pradesh-1, Maharashtra-1

ey 13, 202238 88840 11 085 D8d oo ods HiTe THe S’ BY)od. eair
ore Sobd FEm oD DS Jeoey éozpséb 020800 I8 J5rTSo Jons Bodod.
(1) SDodardo-2; ndr-3, aoy & $8)5-4, 08g@BF-1, oo Gg-1

(2) S¥o-3, 2dx-4, ud0) & 5°9)5-2, Sogae-1, 533’5‘0“@-1

(3) BdTrdo-4, 2.br-3, udoy & 5°85-1, SoEgHATF-2, HoToH-1

(4) So¥T%o-4, 2.8r-3, 280 & 58)5-2, SoEgHA5-1, oo G-1

171.

On 25" February 2022 The Secretary General of the United Nations appointed the following
as the Assistant Secretary General to serve as United Nations Crisis Coordinator for Ukraine.
(1) Michelle Bachelet

(2) AminAwad

(3) Frederic Leclerc - Imhoff

(4) Wairimu Nderitu

DRSO 25, 20228 wigTrag S8 DELE 2565 G 08 T GFoSH DGRy 208
508" HHBGEDEYT HIVoEK ©BHoE DELE BIEET AoHJoTE.

(1) 0BS B8

(2) oS 056

(3) E0E BEBE,-aSoHT

(4) gos» go

AT R ot b SRS
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) Sustainable shipping f,

(3) Scafarers : At the copg of sk
(4) New technologies for gre. 1p

2022 38§ 308 d Qe
(1 QoI JS us 8 S0
(2)
(3)

SIS A5 6§ w g
(4)

Sy Bodt & i%6 =

/T-—-— r N
173, “Progress tow ards an equitable world”

(¥~ G20 Summit
(3) BRICS Summit

a Susty

BP’

-

-~ ls

§Sarg el
[0S0 S f‘:_:aeS
N 56

(1)

2 o me Dy,
1) Empowenng womey ; Y202 ;

Booklet Code

nar}timc community
'Nable planct
PINg’s future
St shipping

is the goal of the following summit held in 2022.

(2)
(4)

G7 Summit
12U2 Summit

"SI G)éoéo DY) VEKS” 2022e5* mOAS & 808 3pol HSrIF eggo.

(1) G20 383y
(3) &f I8y

)
(4)

G7 $&8
12U2 3659

PR

174. Match the following persons with their respective positions/designations as on October

2022.
List-[
a) IMF - Executive Director
b) DRDOChairman
¢) Supreme Court legal services

committee chairman

d) Scientific Advisor to Minister of Defence
& Bod Sg¥edd 2022 s T8 50 ITo8/Foros' addohod.

da-l
2 ©I5.09. - J§srgids 3og6
b) &e6a.S. BGS
¢) ooE'E agos dbge
E8 wgidd
d) e S0 TH dOTTE
The correct answer is :
DBGS DSBS !
(1) a-i, b-iii, c-ii, d-iv
(3)  a-iii, b-ii, c-i, d-1v

A

(2)
(4)

List-II
i)  Sanjay Kishan Kaul
ii) Krishnamurty Subrahmanyan
iil) Sameer V. Kamath
iv) G Satish Reddy

Ha-11
1)  Jozdd 84S TS
i) 5Y Sord Sopdress
i) [ . %S

iv) 2. %87 3

a-ii, b-iii, c-iv, d-i
a-i, b-iii, ¢, d-jv

41-B
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7 1 aut S.
175. Match the following books with the authors

List-1 (Books)
a)  InFrecFall: M :
b) India’s Economy from Nehru to Modi

List-II (Authors)
y [ixperiments with Living i)  Bimal Jalan
i) Mallika Sarabhai

A Brief History o
¢)  From Dependence to Self Reliance iii) Sahil Seth
d) A Confused Mind Story iv)  Pulapre Balakrishnan

808 RSwaS JJFso gSonded’ 2EBaod.

el (HHs ) Der-11 (SSanden)

) 8P IS D FROD0L A& dJok ) DHS =z

b) R08aS IS P5 IO o Drd i) 5095 &oErcS
1 9 b

C) @S 608 Lo BE) boaH i) & B8

d) D 53y Dok b ' V) Yo ToBIS

The correct answer is :

DBES SIrTSI0 :

(1) a-ii, b-iv, c-i, d-iii " (2)  a-ii, b-iii, c-i, d-iv
(3) a-ii, b-ii, ¢-i, d-iv (4) a-1, b-iv, c-ii, d-iii
176. Which of the following longitude is called as international date line?
(1) 150°E (2) 160° W (3) - 180° 4) o°
& 1808 2 Sgrodsndd VOSTEOH BB Deodes?
(1) 150° &> 2) 160°3 (3). 180° 4) 0°

177. Which State of India occupies frs position in Jowar production?

(1 ‘)5 é fnde}sl‘m‘l’mdcsh (2 Maharashtry ~ (3) Telangana (4) Kamataka
T 6SBF0 QfJ‘@o F'F)doky S5 Jooses TV0 BEDODIH?
(1) so@»ds (2) &é*ow@ (3) 8worre (4) Sopwg

e

42-B
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< Match the following,

1 Listd

2) Yamdz} List-11

b) Manginapudi i) Bapatla

¢) Suryalanka if)  Nellore - _
d) Mypadu iii) Vls.akhal"“"a
& 808 T8I 28Bo%0s, iv)  Krishna

-1 1

) osod .o

b S0nSIra 3) g‘;gg

c) Rrdgeos i) Dw@Bio
§) R ) &3

The correct answer is :

;659__33:‘6 DA dsw
(1) - a-1, b-11, c-iii, d-iv

(2) a-iv, b-ii, c-ii, d-i
(3) a-ii, b, c-iv, d-iii

. (4) a-ii, b-iv, c-i, d-ii
179. Which of the following Rock is not a Igneous Rock?

(1). Granite (2) Basalt (3) Quartzite
% 808 T8S* O of) OO Jo0HoDI $°E?

(4) Pegmatite

(I) e (2) ady 3) s58s (4) ESrBE
180. Which of the following is not a tributary of the river Bramhaputra?

(1) Teesta (2) . Manas (3) Lum (4) Dihong

& 808 F8S* DB PIRESE GIIE $E?

(1) &z (2) SIS - (3) od () —8%oR
181,

Average monthly values of maximum temperaturc, minimum temperature and rainfall for a
place can be represented by

(1) Climograph (2) Thematic map (3) Climatemap (4) Histogram

2§ Podo G, wegdE SIS ©85e) TS D0 SEF SRk BEGo® FESo
(1) 33D (2) RdGg 2o (3) %é‘gi’ga Do (4) RS

182, s orbit i
fge(sfﬁﬁfflgﬁffh o (2)  Anclongated oval path
(3) A scaled oval path (4)  Adefinite path
Wy RS es)d
(1) hi;_;id 352 | (2) 84 symes g
() oo sks &) SHEeo 88 (1) P9I sy
(M
A 43-B
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183. The moist deciduous forests located in North Eastern Andhra Pradesh grow in the following

range of rainfall.

(1) 100-200 cm (2) <75cm

(3) >250cm (4) 50-75 cm

Sy so$BTS* HI) &g 50" BEHe0 (Bod BODS 2 SErd £88¢5° WEIDETX.
(1) 100-200 2o.. ' (2) <75%0..

(3) > 250 o.. (4) 50-75 o..

184. Choosc the incorrect statement.
(1) Indiais the largest producer of raw jute and jute goods in the world.
(2) India stands first in the world in sugar production.
(3) India stands first in the world in jaggery production.
(4) India stands ninthin the world in crude steel production.
8od TES® 28R T57gR) $Bood. ‘
(1) 23556, 23556 S0 GHYS* HHoSos' PEERTAH J088 0.
(2) Pdotsods* Hosmd GEBS* rEEBTIS 0k FJo.
(3) ©DoSoS* Byo &S rESBTIO I Plo.
(4) ©DoTod* S0b G&) GEBS® rESRTIO FIES Fo.

185. The Periyar Tiger Reserve is located in

(1) Tamil Nadu (2) Kamataka (3) Goa (4)- Kerala
B8 Yeve DosE oo &N |Fodo
(1) & o (2) sgwg 3) A= (4) s8¢

186. Clause 2 of Article 13 in Indian Constitution is not applicable to
(1) Law made by the Parliament
(2) Ordinance issued by the President of India
(3) Constitutional amendment made under Article 368
(4) A decision taken by Union Cabinet
grdd oergoffdne® 138 HEGnsns® Ko 285 ser B8 580w,
(1) &gavotn Er@oBodS s
(2) 268 TBD8 b BRS ©PIY)
(3) 3685 ©86S0 ©Hd00D Erdroboswds Trargos SS8o
(4) Bol 5°ghRE BB dgaso

(VAR san
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vhich of the following is not correct i | Dutics in the Indian
ituti wit -undamental Dutles
Constitution? h regard to Fun

(1) Fundamental Dut!cs are applicable only to citizens of India-

(2) Fundamental Duties cannot be enforeed by writs

(3) Ten Fundamental Dutics are incorporated by 4774 Constitutional Amendment Act.

(4) Eleventh Fundamental Duty was added by 871 Con stitutional Amendment Act.
L U*m‘*goﬁoe.'i" o S e Soofod Ho5RR?

(1) SENE D0 68 THO%H SmgH 38300m.

(2) oo LT TEWE oot ey 38 SB%0.

(3) 428 Trmgoli JST B8 | PEXE et FokBnEISE.

(4) 875 TEgoll JBC JEToES FEWE 2§ FoBHEIIE.

187.

188. Which of the following is not correct with regard to Vice President of India?
(1) Hedrawshis sa}ary as Chair Person of Rajya Sabha.
(2) Hissalaryis paid from Public Account of India.

(3) His tenure is five years.
(4) Heis elected by Members of Parliament.

Cole1:1 6:’30‘-@5% Qo000 J85AB?.. _

(1) ozgssd odghd Fod' «dds 28d8g0 STATCHICTA
(2) ©8d £885850 Ed HPF ©Todn Jod BOJ0.
(3) =8 d8ds5°wo 5 doSTren.

(4) ©88 EMotn debge B IYSHTO.

189. The Directive Principle in Article 43B relating to co-operative societies was incorporated

by this Constitutional Amendment Act

(1) 91% Constitutional Amendment Act
(3) 95" Constitutional Amendment Act
43B HESS0eS* Ko HTEE DoHresd H020
D58 é%aﬁn

(1) 913 oargol H5Ce SLDO
(3) 9535 oargon D6 ¢35

190. Which of the following is not correct?

(1) Rajya Sabha provides representation to States. .
) Dejpyuty ChaierchOH of Rajya Sabha is elected by the members of Rajya Sabha.

(3) There is no reservation of seats for Scheduled Castes in Rajya Sabha.

(4) The normal life of Rajya Sabha is siX years.

Bod TdeS* $65°00? -
(1) cagss oot @adsge AR

(2) oagdy e,:gyges 365655 TEgS DEDFLO XKoL,
() oagnses* ndrgg Koo T08 sy 628 BowdB,

8 o°e.
(4) oagsy Feée SIS0 w6 HOIHT

I e

(2) 93" Constitutional Amendment Act
(4) 97™ Constitutional Amendment Act
8003 BT JrE30K DodBENS Trargol

(2) 933 oargor dS8e0 SIS0
@) 9735 orargoll D58 zﬁée’éoo
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191. From the following identify the State which hag higher representation in Rajya Sabha
(1)  Gujarat (2) Karnataka (3) Odisha (4) Andhra Pradesh
Bod TSt oragdes’ REVRS LI ) EONH) o308 Qo550
(1) Koo (2) SqubE 3) woa (4) woEBDE

192. Lord Rippon’s famous resolution on Local Sclf Government was passcd on
(1) 18" May, 1882 © () 21% May, 1882
(3) 11" May, 1882 (4) 9" May, 1882
LI BHB> 0N Hebego g 0D BRSPS boyso es3rBoBnAS 88
(1) 18 3, 1882 (2) 21 %, 1882
(3) 11X, 1882 (4) 9, 1882

193. Panchayats at the Intermediatc Level may not be constituted in a State having a population
not exceeding
(1) 20]lakhs (2) 30 lakhs (3) 40 lakhs (4) 25 lakhs

8o 2EYE) 2 HOBI Do o RS0e’ g Fowd Howronden Jomydn
DoHI3d880 S
‘(1) 20 efen (2) 30 efen (3) 40 efex (4) 25 ofeo

194.

The word ‘Cabinet’ is incorporated in the Indian Constitution by this Constitutional
Amendment Act

(1) 42" Constitutional Amendment Act (2) 24" Constitutional Amendment Act
3) 44™ Constitutional Amendment Act 4) 45" Constitutional Amendment Act

88 orargofoss® ‘sgARES ©F) HEB0KH ForHHEDS oargorl 880 B
(1) 425 camgof 56w BEso (2) 245 oargos 936 Wiy
(3) 443 oergols 3560 BEED ©(4) 455 oargor $56m iy

195.

The Judges of International Court of Justice are appointed by

(1) Secretary General of UNO

(2) Security Council

(3) General Assembly

(4) General Assembly and Security Council

©o8TBODH TgoDPBENEKH TgohBred I ISHNTL.
(1) o8gorag 908 (s 5°8g¢50)

(2) #HBe Lookd

(3) Scdesy BB e

(4) D65y @AY ¥ Sobckn e@ar 08
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ONle o ) . . :
Ple cay be removed by adopting this method in Direct

A l,t.pr(‘,."{(.‘l‘l(.’lllvc clected by (e ne
Democriacy.
(1) Referendum
(3) Plebiscite (2) Recall
Bol OBgE Wiy Beso O (4) Initiative e
" { 20 v W ] .
(1) \5::3*&’(?7“033 DESe g MIMEE DB © bhg A
T s ol the al .y
197. N()I/,\(I‘\Jf)mi s ol l.l )OYC) Option in Electronic Voting Machines was introduced for the
first time in the ¢ICClions o State Legislative Assemblies held in the year.
WE S o, 13 ¢ .
.DOLSQQL 5,500 NSt S (2 39 se0) w) DS FobB0Eis SO 8od

190

soddtod’ 20N O IS Safo Mges* wETHL®:
(1) 2012 (2) 2010 (3) 2013 (4) 2015

198. Open Ballot System is adopted in this election of our country.
(1) Election of Members to Rajya Sabha |
(2) Election of Members to State Legislative Assembly
(3) Election of Members to Nagara Panchayat _
(4) Open Ballot System is not adopted in any election of our country
858¥0* Bod IQES® eS80l SE30R DETISN wSeodosnds od.

(1) oagdt dghgo Q8

(2) U‘L‘g A Hes Jedge A5

(3) K6 Domroh&hy dFoge RE
(4) H83d0s* W RELIONE oot &

199. “Elephant” is iom § mbol of this political party in Assam.
ephant” is the election 8y (2) Bodo Land People’s Front

(1) Asom Gana Parishad , :
(3)  AllIndia United Democratic Front “b‘(fj)ﬁ;”Janata Dal (United)

ey : P12, [g5le] :
emoed® §ob oozbo® § IR (2) &G ergol YY) Po8

80f A0 BI0oRO 288K

(1) wdo Ko HORS y )
) gg)m&oﬁ‘ 52,305 L] oS f4T 2de §§ (503I86)
m] - . oL foun {inthe 8" Schedule of Indian Constitution
. (11; following languag Urdu (3) Dogri (4) Gondi
Sindhi 0050 e
’ ) - \d 6‘ @(bo)o
58 Trrgolos'® 89 L 3) &6 (4) &b

(1) Qod (;) &g
o000

Ty



YEAR BOOK - 2023_ Telugu

€003 SOOI BLorPes TPaPye” B8 238tidy police constable, ap high court
exams, group 2, group 1, si, group 4, rrb, sSC H0E0H &OAIRHNGE 2022 235650 Svobs
2022 &200208 SEH &Sy S0agess DL, oBTPAOD oL, PGB0 VoL, BoliNRS
oL , DVOIPEY WoFPL, BOF oL, VWY & €5 wes §en , @ardoen, PEL'Q Sgdoen
(0800 De50f§ DaSrerdo , FPEK0 2060y OO JPpsn MCQ D3y eo PDF 8300’ gsdgtéo 250008,
payment Lr8 30 pdf &§'é D08 ok,

BUY HERE : https://imojo.in/2jt9yk3
BUY HERE : https://imojo.in/2{t9yk3

OR PhonePe : Rs.75 Only
7989213071

2305520208 ¥3085 @3._._)5‘3
YEAR BOOK -2023

. SBeomres, €303 3 Trgryeres®
e One Liners arsstges 326 ewseshsy

eozfgren N 288
e Artcles SOy Eoie

e Practice MCQ's A



https://imojo.in/2jt9yk3
https://imojo.in/2jt9yk3

TEJASWI'S

£30& eaoogb

YEAR BOOK 2023

@) BEHEE0DH & DB io

o Sgd aBHexn
. eaoeﬁg"édﬁo

e 22H0Ho

. esogéag

* e3)0MI°ED

. esgéo

¢ I & Bseyered

o Scken

* eoeBren

TSPSC a"’ggef\') SgHren

BUY HERE : https://imojo.in/2jt9yk3

(9 8639066396

BUY HERE : https://imojo.in/2{t9yk3

OR PhonePe : Rs.75 Only
7989213071


https://imojo.in/2jt9yk3
https://imojo.in/2jt9yk3

